CYCLO®Drive for Servo Motors

EHEE—XA>VF - GD? D3k&HH

QBEME— A2 -GD2DKOAH

z ind ZB) g8 BHEE—XAVF GD?
ElEREOALE R K Mkg) I kg-m?) GD? (kgf-m?)
LT 0
_ 7
1
d e- ) [2ey = %.n.dz.g.p %-n-d“-ﬂ-p g'ﬂ'd‘“ﬂ'p
" plkg/m)
Bl 2
1 1 1 1
@ d‘I @. ‘> M 7 +me(de—dd)- L+ p 35 *me(dit—d)+ 2+ p g meldi—d) L p
7 p (kg/m?)
Bl 2,
bl | ~~ 70 £ a*hecep a'1b2’c «(b2+c) p a'?’ﬂ.(bz.ﬂz). o
C
p (kg/m?)
=N 3,
b ) J% e asbecep a-1bz-c «(4b*+) p a'zzﬂ.mbz_,_cz). o
C
p (kg/m?)
B0 2
a-b.c | asbec o0
b ’ g arbecop 12 (4b?+c2+ 3 (4b2+c2+
T % 12bey+12y9)+ p 12bey+12y?): p
p(kg/mx)
B d
(—
) 77 ed2e 8
2E Q) P % cmedfep "192 *(42+3d)-p Tag  "4L+3d)-p
p (kg/m?)
*ﬁﬁll_,\ d
N 1 y) d2- 0
g2 od2-
ET _____ . Pt 7 mede0ep Moy +(1602+3d)-p | T7et=-(1622+3d)- p
o
p (kg/m?)
L33 /ﬂ\
~— med? § med? 4
4 | . 1opeditep oy 1602+ 3+ g (1602+3d+
\-k/y% 48y-0+48y): p 48y-0+48y): p
p(ké7m3)
LT
1 ) 1 s 1 s
BK g-n-d°p 6—0.,-,.d.p 15 medsep
p (kg/m?)
Bl 2
- st 1o I s
] 73 medLep 160 "TTrd* Lop 20 7 Lep
p (kg/m?)
L1 )
N IR
*Re +R<(?2 2
A F—5Z 5 +m2Red? p TTZTW.(4R2+ 3sz)'p w‘MRZ‘F%)‘P
o
p (kg/m?)

Fikid. £.a.b.c.y.R(m)

BE: p(kg/m3)

23



